BRIAEE V=5 —FHE %) Tr7 T 5
Ir R EARBHE R AT R LATHE

A 0N B GERRFPEHR SRR BiR)

[1PE]
ZoomI—T 4 7 EFHLTOEE
iR N2
10 : 00~10 : 30 ZfF (A=A A=)
10 : 30~10 : 45 FVzoF—ar

10 : 45~12: 30 O Ir#EEAEEEATHE DB - (ERT T
@ Fr#EEUEEEATHED Y % 25 A, HHEDORINL TIZHOWT

12 : 30~13: 30 PRER

13 :30~16 : 30 O Ir#EEuEERTHEONEN S, Z# A M EInz D& )M
@ VIR BEROER (BEAEE)

@ 2HH-3HADZ V=T

@ FEGEROBYRIERD (FV—TU—7 HORNET)
® 2 HRZN—FU—Z Il COE (F—TT—7)

16 : 30~17 : 00 O FEOM ST 15
@ 2 HHO#WB (MEEYEOHN)
@ 3 HHEOHEEHRZEOTN (FHEZEOMR YRR - MEHREOTER)

(2 FR] £&HHE =5

] NE
9 : 30~17 : 00 IN—TT—2

(1 FFREOREET) | O FERDOIERK

Q@ HEEROIERK

@ AR O e

@ 3 H H OFEsz3E O Ik 71k

(3 AA] £EHHE =5

RF (i N
9:30 ~12: 30 et 5 K ONHRT
12 : 30~13 : 30 IRER
13 : 30~16 : 30 PR 2 ] OV T




